Name_______________________________________Date_______________Period________

OCCUPATIONS OF TEXANS IN 1850
TOTAL POPULATION – 212,592
  OCCUPATION               NUMBER EMPLOYED                                  OCCUPATION                  NUMBER EMPLOYED

Blacksmith 



701 


Mason 


             

313

Boat Captain 



107 


Mechanic 


             332

Cabinetmaker 



146 


Merchant 


             985

Carpenter 


           1,361 


Overseer 


             291

Carter 




284 


Physician 


             616

City (County) Officials 

232 


Printer 


             119

Clergy 




308 


Ranger 


             138

Clerk 




589 


Saddle/Harness Maker 
             152

Cooper 



103 


Soldier 


             584

Cordwainer 



215 


Student 


             190

Farmer 


          25,054 


Tailor 



             190

Grocer 



177 


Teacher 


             418

Innkeeper 



155 


Teamster 


             367

Laborer


           5,351 


Trader 


             110

Lawyer 



428 


U.S. / State Gov’t official 
             445

Mariner 



198 


Wheelwright 


             207

Look up the definitions for any of the occupations listed above with which you are not familiar.
1. Which occupation was the largest? ____________ What were the next two largest occupations? a)___________                 b)____________________Why do you believe so many people were involved in these occupations (address each separately? ___________________________________________________________________________________
2. How many merchants were there? _____________ Which occupations dealt with something to do with horses or wagons? (provide at least 5)  _____________________________________________ Why are there so many of these? ______________________________________________________________________________________
3. How many occupations had less than 200 employees? _________________ Which occupation had the very least employees? ___________________________
4. Which of these occupations are almost “extinct” in today’s world? (provide at least 3) ____________________ _____________________________________________________________________________________________
5. Occupations often provide people with their last names.  What examples of this can you find in the chart above? (provide at least 5)  _____________________________________________________________________
6. What is the problem between the number of teachers and the number of students? _____________________________________________________________________________________________
7. Why were there so few grocers in 1850? ______________________________ Why were there so many tailors when today there are not many at all? _______________________________________________
8. The approximate number of people represented on this chart is 41,000.  How do you account for the difference between that number and the total population? _____________________________________________________

9. What was the total number of people who list themselves as government officials? ________________________
10. Why were there not many Innkeepers in the 1850’s? _________________________________________________


______________________________________________________________________________________
